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Surbhi Sinha 5 days ago
Real Ch am E! Homework question answer '+~ NOT AOJR SAARE DI SESSION BAHUT ACHHA H SIR AAB TIV DI BANNE LAGA

HTHANK YOU SIR , EASILY SOLVE KRNE K LIYE DI &

Aalap 5 days ago

Amazing session Thank You sir 4 .

HW ANSWER: 48.21%
e 2 GF Reply

harsh sharma 5 days ago

All sessions are amagzing sir 4= thank u so much sir J. &

e ' 5P Reply

DEBASHREE DAN 5 days ago
Abhishek Singh & days ago 2 ddys ag

Very nice session Sir Hw-NOT
CE O & o Beautiful session

e 'GP Reply

Sourav Basu 5 days ago

Very interesting session sir. hw ans - 75%
@5 S8 Reply

Amanvi (Sadhwvi) 5 days ago
Thank you so much sir for this wonderful session
HW. Answer is not (17.5%)
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95,
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°9

dy: 33, 2]

A.70
B.60
C.65
D.53
E.NOT




"/\\?—j S /7

A.5569
B.4426
C.5046
D.4065
E.4056



Find the value of ?

486 ~ 33+ 3/2197-6 x5=2




Find the value of ?

(vV225% 24) ~45 +/625=?

A.31
B.38
C.35
D.33
E.41




Find the value of ?

53+25><8=?+12><5

A.265
B.225
C.245
D.255
E.235




Find the value of ?

(33 -(35)*+(17)*="2?

A.121
B.138
C.153
D.165
E.NOT




Find the approximate value of ?

(95.01% — 68.02%) + 26.99 x /7 = 7987 < >

A 1§510]0
B.2025
C.1225
D.2401
E.2805




Find the value of ?

336 + 24 x Y343+ (7)> =2

A.151
B.157
C.161
D.167
E.147




Find the approximate value of ?

(5400 +/? x 35.99) + 45.04 = 140

A.25

B.324
C.625
D.144
E.256




Find the approximate value of ?

22 +114.09 — 24.06 x 5.14 = 163.19

B.13
C.11
D.15
E.19




Direction: Study the following pie charts to answer the given questions:
Pie charts represent the number of cars sold by two dealers A and B of different brands. E\

facar: feu v gsii & 3R &9 & v [eafaf@a urg I &1 34eqTa & uig e RAffea gist
al STeRT A 3R BgRT 9=i 918 BRI Y I&IT A AT &l

Each sector represents the percentage of car A Each sector represents the percentage of car A
sold of different brand by dealer A. sold of different brand by dealer B.
Total number of car sold by dealer 'A' = 10,000 | Total number of car sold by dealer 'B' = 8,000




Find the angle corresponding to the Renault car and Toyota car sold by dealer B ?
el B gRT deit T WHiee X 3R ST T o FATEY hIUT 7T hlTeTa?

Each sector represents the percentage of car A Each sector represents the percentage of car A
sold of different brand by dealer A. sold of different brand by dealer B.
Total number of car sold by dealer 'A’ = 10,000 Total number of car sold by dealer 'B' = 8,000

a. 122°
b2 22%
c. 144°
d. 154°
e. 166°




Find the average number of cars sold by dealer A of all the brands?

gAY SIS & ek AGRT ddl 35 BRI & Td F&IT IATd hiferd?

Each sector represents the percentage of car A Each sector represents the percentage of car A
sold of different brand by dealer A. sold of different brand by dealer B.
Total number of car sold by dealer 'A’ = 10,000 Total number of car sold by dealer 'B' = 8,000

a. 2000
b. 3000
c. 1000
d. 4000
e. 6000




Find the difference between Toyota cars sold by dealer A and dealer B ?

3o A 3R 3R BgRT 9= 318 elAlel dRI & g &7 3aT AT I ?

Each sector represents the percentage of car A Each sector represents the percentage of car A
sold of different brand by dealer A. sold of different brand by dealer B.
Total number of car sold by dealer 'A’ = 10,000 Total number of car sold by dealer 'B' = 8,000

a. 1200
b. 1300
c. 1400
d. 1500
e. 1600




What is the total number of KIA cars sold by dealers A and B together?

STol A 3R BERT &<l 918 KIA BRI & Pol HEIT FIT &7

Each sector represents the percentage of car A Each sector represents the percentage of car A
sold of different brand by dealer A. sold of different brand by dealer B.
Total number of car sold by dealer 'A’ = 10,000 Total number of car sold by dealer 'B' = 8,000

a. 2500
b. 2000
c. 4000
d. 4500
e. 5000




What is the ratio between Renault car sold by dealer B to the Hyundai car sold by j
dealer A? @

IeR BERT 9l 915 YAlee PR 3R ol AGRT 9= 35 §23 HR & fiF &l
HJUTd AT &2

Each sector represents the percentage of car A Each sector represents the percentage of car A
sold of different brand by dealer A. sold of different brand by dealer B.
Total number of car sold by dealer 'A’ = 10,000 Total number of car sold by dealer 'B' = 8,000

a. 4:
b2
c. 8:
d.1:
e

= N o W W



A survey is conducted on 245 people
of society about their choice on tea
and coffee. The people can select
either only tea, only coffee or both
as their choice. The male and female
are in the ratio 3 ¢ 4. 40% of male
and 10% of female only like tea. 42
people select both as their choice.
Out of total female 15% select both
as their choice. The numbers of
males who selects only coffee are
double to that of who selects both as

their choice.

g 3T BT P lhT SeIchl TS
Pl APT GHATST b 245 SN WX
Uh gd [hIT Jar &1 oET 31Ter

U8 & ®1 H IT d hdd I,

hael P AT ST Pl TIT N
Fhd &1 g AR AREr @
w3:4%| 40% J¥Y 3R 10%

hdol ITT UHCE Pld &l 42

oIl9T @l &l 31Ul Jdc & ®7 A
ol ol Afge3t H T 15%

[ &l 3Tl U8E & ®T H AT
S| hdol Pl Bl IJIA Pl dlol
I AT J&IT 30T gde & T A

I &l IIA Pl dTell hT &I

4 G B




A survey is conducted on 245 people
of society about their choice on tea
and coffee. The people can select
either only tea, only coffee or both
as their choice. The male and female
are in the ratio 3 ¢ 4. 40% of male
and 10% of female only like tea. 42
people select both as their choice.
Out of total female 15% select both
as their choice. The numbers of
males who selects only coffee are
double to that of who selects both as

their choice.




(i) The difference between the total population in society A and society B is 21.

(ii) The number of males in society B is 33.33% more than the number of females

in society B.

Both Males and Females

WEIES




What is the ratio between the number of females in B and E together and number

of females in rest of the societies?

B 3R E # ATEETTatl hl HEAT 3R W THTSTT H HIRETTA! chl HEAT o S T ST

T B2

RV EIES

and Females

Males |

a. 2:3
b. 3:2
C. 152
d.5:3
e. 2:5




The number of females in society B and E together is what percentage of number

of males in society A and E together?

U B 3R E | Afgettati i €T, a0 A 3TR E H THerrent goui st €T st

feraT utavra 22

RV EIES
and Females

Males |

a. 33.33%
b. 48%

c. 66.66%
d. 82.5%
e. 58.6%



If 60% of males in society C and 40% of females in society B went to a function,

then what is the number of people that attended the function?
TS TATS C H 60% TEW 3R THIS B H 40% ATEATE Ueh HHRIE W AT &, AT THRIE
T 9T & STeY STehaT hl AT T 82

Both Males R
and Females Males R

a. 45
b. 30
c. 54
d. 28
e. 66




The number of males in B and C is what percentage of the number of females in

the same societies?

B 3R C W UGHT chl HEAT THTT THTST H HIGeTTAl chl HEAT ST TehaT TTA9Td 82

Both Males e
and Females Males e

a. 86.33%
b. 92.58%
c. 48.76%
d. 110.58%
e. 88.66%




What is the difference between the average number of males in society A, Band D ¢

together to the average number of females in societies C, D and E together?
TATS A, B 3R D H TEHT hl 318 €T R THIS C, D 3R E | "igarsti i ofted
TTAT % ST ohT AT T &2

Both Males R
and Females Males R

a. 15.66
b. 10.33
c. 12.66
d. 11.33
e. 18.66




